

$x + 13y$	$6x + 10y - 5x + 3y$	$8vm + 18vm^2$
$6x - 5x + 10y + 3y$	$\frac{2(f+3)(f-3)}{(f-3)}$	$\frac{2(f^2-3^2)}{(f-3)}$
$2(f+3)$	$2vm(4+9m)$	$\frac{2(f^2-9)}{(f-3)}$
$\frac{(r-s)}{s}$	$81p^2 - 126p + 49$	$81p^2 - 63p - 63p + 49$
$5q^2 - 27q - 18$	$\frac{(r+s)(r-s)}{s(r+s)}$	$5q^2 - 30q + 3q - 18$

Padankan jawapan di atas dengan tempat yang betul

Selesaikan.

1. $(6x + 10y) - (5x - 3y)$

=

=

=

2. $\frac{2f^2-18}{f-3}$

=

=

=

=

3. $\frac{(r^2-s^2)}{rs+s^2}$

=

=

4. $8vm - 2v(-9m^2)$

=

=

5. $(5q + 3)(q - 6)$

=

=

6. $(9p - 7)^2$

=

=